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i | Analyze the portal frame (Fig. 1) by “Moment Distribution method”. El is constant for all }

' members. Draw SFD and BMD. !

20kIN

2.1 Analyze the continuous beam in Fig. 2, (by slope deflection method) if supports B sink by 2mm.
+ 1=4x107 mm*, E= 200KN/mm?. Draw SFD and BMD. 25
3.2} | Explain the principle of analyzing fixed arch. ‘
o) ¢ Find the horizontal and vertical reactions of a 2-hinge parabolic arch {span L and height h) \
~ subjected to uniformly distributed load acting through the left half. :

| O84S 16

¢) i What do you mean by the term distribution factor?

o What is static and kinematic indeterminacy? Find the static and kinematic indeterminacies of a
" fixed-fixed beam.
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b . What do you know about portal and cantilever method? Describe with | Y
‘ - neat sketch. !
:
E
. Analyze the fixed beam shown in figure 1. With column analogy | 20
. method. EI constant. !
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3 ~ Analyse the frame shown in figure 2. With portal method and draw the 20
" BMD of the frame.
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— 4 | A multistoried building consists of 3 storied and 3 bay frames spaced | 20
' . at 3 m center to center. Live load on floor slab is 4 kN/m® and dead
| Joad 3 kN /m’. The spans of the beams from left to right are Sm, 4m

| and 4 m respectively and storey height is 3 m. Moment of inertia of

S i | the beams is 1.5 times that of columns. Self-weight of the beams are 3
; ! KkN/m. Determine the maximum moment in the beam at the junction |

‘l (C) of the second and third span of 2" floor. ;
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